DHRETE

Kk &EF.C. 4 %

20134E3A5H
H 7 2 £ Bl R ¥ = EEEA
S =9 A /NERES QueentBiF MEO-PTE
AE=T:15RBBHES RELVyT KEHBG BN - 128
3A9H (£) 64E=8: 15K ME A HERE KMSCHERAE (BF/N) 8:45LIBEARK | BEH
3-2-1FE=9RBIE S KRG INEER-AR
18:30~AHEEL (RATHERK L #—3K H12EB=R)| NF -2
64 = L HERETLERSHE EH-A 0
54E=QueeniBfF o2
3H10B(R) |4F=XKELAv7 KEHEG 53,7
3 =8:30£ 4 FARE/MEETM /NS BRHE LLE - A
2-14£9=8:45%4 BARE/INTM (EH)
SeE=HEWN (5EV—7581) ARG (FE) 2
SE=T:A5KMER FRF¥L o Iohy7 (BAFHRARS BRESLE) | O
3H168 (4) IFE="7:15RaEHES RKELNIYT KEBG R - )|
2FE =%y XX (BHG) /NS I
6+4-15E=12:30~ T X/ NEE RS BN - E RITD
19:00~ZF= (IZAIZA)
SE=RFEIUHy7 KEHEG (FE) FEAR -2 0
3H17H (B) BE=FIEF L hv T (KENE) MO-PTE
4 =12:15RAEHE S KETEFC TM (7217 #4/]N) BT - 4R
3H19H (k) | ZFERK
5-4(6)#E=9:00~W K/ MEE
2+14£=9:00~12: 307 K/ M E
3A20H () | F#%=12O0OBE(FE)
SE=T:45HME L FBEERABRFCRIARA (FiE T/ | &40
PM¥FE # ST — LA
SH21H (F) 5:4(6) £ =18:00~20: 007 K/ MEEHE| HEH:IED>
EHRARARESFE=18:30%f 19:00~ (FBHERE) | NFME
43:2-15FE=12~158F B/
3H23H (L) |5%=7:15KME4S EHHM (K. O 10:00) A0
SE=]REMES B VYT (FRKE/N)
54=7:30MES BHH (K. O 10:20)
3A24R (H) |4-3(6)&F=9:00~WEKXE/ Y
2- 1 =HFFCRIASA (9-13:00F,#% B HIG)
SH27H (K) AE=KBNERTSY T T RZ BEUT - REHIEH
AE=KBNERTSY T T RZ BEUT - REHIEH
3H28H (K) 5:4(6)#=18:00~20:007 K&/ MEAERE| BEHIZ)
19:30~FC#&| A)II-4TE
SEE=10BE RIS BT ATV I 7" (FRER/NFERE) S mEESIN
3300 (4) 32 =4 )IFCRIWRE HBLIIETRIFR) FEAR - /NSg 1L E
4-1(6)FE=12:30~ FRE/NEHEE By - R
ABEBLSREBESE 18R ~IREREVZ—| /IR




— U 1 e 7°
sf31E(g) | PFTBIRTVhT

4A5H (&) | A%

4H6H (%)

4A7H(H)

4A13H (%)

4H14H (BH)

4H 200 (£)

4H21H(RH)

4H278 (£)

ifosH () | CFE=RRRDEFA—KE MERTFor—okv]  [4H

4H29H (#)

X BHIFIC. KK B L. Pm3:30~5:00=& H BAEG, NEA L. FBEEPmM6:00~8:00




